Geometry 22: REVIEW for Quiz 1.2-1.5

ENSulS

Name,
Peridd - Date
' ! ﬁrﬂ:@(‘)\}h
( 'fse the dlagram to give an example of each of the followmg usmg proper NOTATION! 1 Kok W
1. Line (name the same line 2 different ways if possible) % 6& /
fe B
2. Ray (nz_tm_e_t_he same ray 2 different ways if possible) A C / R A C/
. = o I R B
3. Segment (name the same segment 2 different ways if possible) & (2* o EQ / _

4. Intersection of the 2 planes shown

5. Intersection of plane QRA and line BC

ADC

6. 3 collinear points

AL

7. 3 noncollinear points

{’)& ol A o

8. A pair of opposite rays

| _raw a sketch and label as needed. Do the best that you can with the drawings.

9, Three collinear points 4, B, and C.

i

AB O

11. Coplanar points ¥, X, ¥, and Z.

10. MN intersecting ABat point R,

-
B

V\t/@ NH\?

12. Collinear tays, JK and JC

o * r—
| ¥ ¢

14. Linear pair with <FUN and <NUR

16. Adj acent éomplerhentary angles




—
=,

DIAGRAM GIVEN EQUATION X= FIND:
INFORMATION
16. . | |
o - \B - e =9l 1y
s 3 o |AB=14 R X= Q&
4 BC = x o
JGAC = <CAG |, . 5)=3x-10 x= 50 |m<TaG=
meTAC=x+20° A+ 140"
m<TAG =3x~10 l?k L‘-{O :?)X 10
<O -
. . Y0 . ) _ o
m<ABC=20x+24  [0xt a/0vlo=ta5 @/ mese0 - 121
30y + 30 =180 ' 50 °
» m<CBD =10x+6 '{Qﬂ”« (5D .1 m<CBD =
E Y= 5
<NMO is a right < X=10 m<LMN =
_4s’
mAMN =6x~15 | [jx-IS FI0=I3HS |
. m<PML =
m<LMO =13x + 5 Lox +775 “5/(’{ 45 (
10Ty
X=10
&
5 E LE bisects RN ” X 23\9_ RU =_U(£;(!’_
/1‘1“/\ (so ppint U js the QUXJ D)*I X 'Q)(r)
Ro—o] [ ﬁ‘ﬁ;ﬂ“’ﬁof ) un = 150
oN Ux+ 24 < lox-20 330
RU = 7x+ 12 NR= -2
NR = 16x~ 20 4 = 2y
gy o X 22

Decide whether the statement is frue or false. Briefly explain your answer.

21, Lines have endpoints, FalSL indh e

MH y [”\(RML}’Q

22. Planes have edges.

23. Three lines that intersect at the same point must all be in the same plane.

24, Two planes may intersect a third plane without intersecting each othet.

Tt

Falsr / ]




Complete the following using the diagram at right;
8. Angle addition postulate 26. Segment addition postulate

m<LMN +_4NM0=m<IMO pm+ MO = PO

27. Circle the 4 expressions that make sense. (one from each column)

AB = CD XY=12cm m<FEG = 32° m<ABC = m<DEF

<FEG = 32° m<ABC = m<DEF

Complete the following sentences.

28, Two distinct planes intersectata WL l ((lﬂ, .

29, Through any & {)(){ S , there is exactly one line.

Use the figure at the right to answer the following questions.
30. Arepoints O, B, R, and C coplanar?

_ i c—mﬁ =7 22
31. Name three lines that intersect at P. B P

7
2. What is the intersection of plane AOB and plane POR? OP

Draw a sketch of each of the following, Malke up values for any angles or segments you draw, and mark
your diagrams with congruence marks whenever appropriate.

33. acute angle ABC  34. Obtuse angle SBT 35. YG with midpoint A 36. Straight angle XYZ

A : 0 ° 180"
32 N ‘““*"““""””,
y 6 y 2
g g T - x Y

Using proper notation, list all information given by the marks on the diagram.
G —t+—

37, Y N 38, 1
T, UT=5¢ - .
R / g 4
< > p D
a B — _—
GE=DE
Ghe 5t

Gh.L DC







Geometry (chapter 1)

Marking Diagrams and Writing Equations ({L.E.S.A.IT)

Name W@% ‘ per.

Label and mark each diagram with the given INFORMATION, then write the EQUATION that matches the diagram. SOLVE for x, then find the

missing values.

DIAGRAM GIVEN INFORMATION EQUATION X= FIND:
y > : BC is twice as long as AB xRy = 47 X = zw AR = N«.\
4 2 AC= 42 By e T —
° L ﬂ BC = %m
Reason: wﬁnwba_o@ oSt
AC isthe WE=DAD %= 9y merag=_ 2
angle bisector of <TAG gl = 2y D
M<TAC = 28° blo =27
<TAG =3x-10 .
i " @m%jﬂ. D
wmmmozuﬂ &&h@ mmu
m< ABE = 20x + 24 Joxra B A=180 |y. 3 can= o
50x+ 20280 .

m<EBD =30x+ 6

S0s< hmd
Reason: %«Cs%ﬁ

m<CBD = %ﬁ\

Vo L PO
m<LMN =6x—-15

m<LMQ =13x+5

G%lwmn‘wb:u = Bx#S
MQVA + QWH 1%%+S

jor b
x<lO

Reason: % g «Duml

m<LMN = Q“m
m<PML = J&w\a




RU = oL

Reason:

M.@[Emmnﬂm RN 171. S\ ¥ ﬂxl@\u X= b%\
U=7x+12 [is y- 20 “
NR =16x-20 | UN = ;nﬁ
J4x £ =l -20 wre 5L
44 s 2x
e
R : _ . ot
cason: 4. 0
~ §. _%0
<XYD = <ZYP X= @ m< XYD =
m< XYD = 3x W‘S ’
m< DYZ = 50° = DSl M<XYP=_0OW
' m< XYP = 22x — 46 B+ By Adx
ox +0 * Ly -4l
A = i
PV
Reason: &. § ﬁ&u\
<FGJ and <IGH are wuﬁxw%% \l&Q X= nPWT\ m<IGH =
complementary angles _ mw O
r?» =£5 m<JGl =
I[GH=3x+2
m< X+ x \._\mlw\
m<FG) =x AP Y
Reason: %%SQM
KO = OM xb_\w,\\wx(g X= L LN is the —L DISEeis
, of KM
CTA A m = X \
HQ_._; § Mo g
Kb=x=+2 X\&
LM =3x—6




Name PYNSUJM Period _ Dat¢

Geometry 22: Practice with (12>) 1.5 .
1. Use the diagram at the right to decide if each is true or false, prlaln
a. £2and £S5 are adjacent angles. {7, | $£. /Dﬂ\ﬁk Shace o Sicke 5.1

= Jon-
b. Z1and £4 are vertical angles. TYUQ, ﬁf!
¢. Z4and 25 are complementary g,Q My ace 1 PV
Fed “ ( Suppbu

2. Name an angle or angles in the diagram described by each of the following. A

a, complementary to ZBOC 2 BOA

b. supplementary to ZDOB Z /,\{)6

¢. adjacent to ZAOC <D

3. For the following exercises, can you make each conclusion from the information in the diagram
below? Explain.

A — J—
a. ZBCE = /FGE b.FE=EG ) O
A

" g

4. Sketch the following situations with appropriate tick marks,

¢, DE

Ii?

d. ZADB and ZFDE are vertical angles

¢

b. XV biscots LHXZ ‘ ¢. ZLMOand ZPMQare

a. ZABCand ZCBDform a

linear pair, C vertical angles

"1 ¢
5 b S

ph B D X 2z M

5 Q
5. Using the diagram below, given that mL’_AOBI =dy o 1y msBOC=2x 415 mALAOC = +8. Solve
for x. Find the angle mcasures, ® 28

’L(X,_| )(2}(1"\3.: g&’*’é‘(

(Qr\l—i\{ < 8&&1?(
b © 2
x=3

6. Using the diagram below, given that OB bisects ZCOA. Given that mZAOB = 3x + 8 and
mZBOC = 2x + 14. What are mZAQOB and mZAQC?

5"
A+§ =t 1Y
x =




5
7. ZJKL and ZMNP are compiementary, m.»_/JKL 2x -3 and mLMNP Sx+ 2 What are mJKL and -
m£MNP? Show a check for your answer.

An-2+ Sx 422 4O -
Tx~1=90 |

Tx = 9)

| ey

8. QS" bisectszéPQR. Solve for x and {ind mZPQR. Hint: Draw a diagram

a. mZPQS = 3x; m/SOR = 5x — 20 £
; _ I
3x= Sx-20 S

Sx-2.0

SE mew) @ ¢

b. mZPQS =2x + 10; m£PQR = 5x -3

56’ : ¢
Q}Q’Fib'f”;l}( +10 - S}(»C_)) . 'Z)‘kw Sk -3
b
Y + 20 = Sx-3

@ wepges U2 @ & o
_ {
is 38° Ie o

9, The measure of one angle ss than the measure of its complement. Find the measure

of each angle. X, - Y= =90

% = m&u X:\zéw38

dellrk eomaplatech

el =X =

Y= 2
11, If Z1 and £2 are complementary, mZl=x*-2x and mZ£2=27°. Find x and m21. Check your
answers! _
WE-2p k y 7= 90

Y e =370 el = X2 06 {
(x—q)x * 7= 0O 9=-o(2) “C -

Sflv)é/ ‘144‘{




Extra Practnce 1.2-1.5 Name per

Daa:ic!::- Wh@thék‘ the statement is true or false.
1. Poinl ¥ lies on line m. /Y 2. XJ ¥, and Z are collineur, (r
3. Poinl Wlhies on linem. ¢ X, Y, and Z ave coplunar, ((
5, }W'ﬁ} areed }75 wre collinear, YT‘? el HS are eoplanar, \]
7. }—’4—5%‘ ariel ?j wres eollinear, /( ¥ el }'f aue coplunar

S

Sketch the lines, seyments, st rays. Labal your sketel, e
26, Praw {oyr noncollinear points A, B, £, and I3 Then sketeh Eg Hé L‘i} and TA.
26. Draw five noucollinoar poinis M, N, O, P, and Q. Then skeich WN, f)ﬁ', Pé,.;iri}—, annd NO,

27, Draw three eollinear points H, 1, ond J with [ belween H and J, Add u pont K bélwcc-n fand J
28, Draw bwo points 8wl T T'hen skeich 57 Addn pantl F on the suy so thal Tis between & and 7,

Sketch the figure described, if possible, (@
29, Three points thal are colhnear but not coplusar, noT POSS'b\"L

20, Three Hoes Uit intessect al u single poinl,

31, A sol of four lines that has tee points of intenection. 2 33,) —

32, Three lines thal do 5ol miersel. - ’ / 3

33, Two plones Uit intemeal 1 a line, % < ?

34. v plmes Uil intersect in a siugle point, ot possio\e.

25. Two roys that intemect ot mone than ene poinl, 1.3____,;1_,? ‘&‘2 ond é? QO)

36, Two eollinewr tays that do oot intersect, M//*\_w Ty

9"‘"‘"“"6 /— A }Q ‘x =
m R @Lﬁ_»—-@—mﬁﬁ-““ﬂ*‘“_"g’”
In Exercises 5-8, uso the following nformation, Q g ,r R S \/ !
8 16 between Tand ¥, K is between 8 md T, T'is between K and 0. GV = 23, FAF § =l 2
F = 8, and TR = RY = SV, Muke u sketeh und answer Ui lollowing, 3% '
" . N - . . rob
5. Fnd RS, 5 6. Fud 5, \,X 7 Fmd 75 LO & Fnd TV [5 ¥ =5

Suppose J1s between H and K. Use ths Ssgmant Addition
Postulate to solve for & Then find the length of sach segment.

a, H.i=3(x~l-2}@ 18, Hf =8y — 3 @ 1. Bl = 3:,&4—4“23
Ik =3 -4 @) JK = 12¢ - 5@} ~21+§@ """"

= = ‘ = M i
KH = 44 KH = 112 KH 3%;1-1_3_

Ayrlpt D=4 = Y Sx -3 x-S “UL- 1 R T
= : FEH RS- L

ez =ty etz (621 208 ~5=HL, 20 2“13 ) 5;“'3 T
In Exercises 10-13, use the following nformation, “Ux* 2 Cqﬂ/ '@'““3 TR =y £l 3‘*
(235 in the interior of 2 ROS. S is in the intovior of 2 Q0P, P is in the mterior of R AT 5 %=\
L8OT, mdL ROT == 127", m£FOT = 11", und m£LROD = m2 608 = m s POT. N {}15?'
Muke a sketeh and answer the fellowing. , O Z}w i E; B ‘/{ { F Iy e / 27

10, Fud msGOP r’\\a . B m 20T O\O\ 12, Find m&ROQ ,&1& mLSQGP ah

‘ . i ? T JaR IR 5 {r

Let @ be In the interior of ZPOR. Use the Angle Addition Postulate 0 A8 X =%
to solve for x. Find the measure of each angle. @

1 mep00 =G4y @ 15 mpog = @i+ ?)“O 16. m£POQ = G + & T

. 7
s QOR = (2x — 2}’@ mZOOR = (3¢ - 2.)@ wZQOR = (35 + 47 9(()
mEPOR = 28 mLEOR = 81" mLPOR = {5z — i)[‘;‘ ( F \
oy |? PR T S -
Y 2 x -2 2 Ue Dy G- L Tlo! 5 C’%W’Ig Fply e 0K

2 2 22l Sy 5 76! (x + 140x49 = - Isx3) o

p £.
gx 250 % €52 15¢ g,a{“?o@ i @O& —im PO?




Finel the valuels) of the varishlels].

Boow Mo = ¥ B N Y g
S N F e I0.EX 17 B - NS
By + 10055 o - 21 T B (K 5 42
oy _1—"’,‘1\-\\_\_ y

; 'z T - 127 -
& ;:L-Ho:(pﬂd)ﬂ w2 ox 15 oy tg =y 12 50‘! X {2

v W) =[1D ST s
A Tz =vy) Gk 2 LS @ -
.,Szﬂ_w N ‘, @
[ Exervises 19 and 20, assumie that £A4 is supplementaty to L8

sl eomplementary to £0, Determine me A, m28, and me Q. e Igfb ’XMO:I;IS ,
1 WK z . s s . RN Fon ) . V¢ P
19, mad = (x4 00, mek = (12 + 1 me e = (e g X0 - b

: . . N | ] Byl = |1 §0. _ (ox =90
20 med = (230 TP, medB = (2L — 257, s O (8 — 11 132 16T = T8
A e T+ Ay -25°140 Sy HTHE -1 =0 NEC @]

B5x =8 180 105 +{ = 90
23 5%z 18 u_ osc:wd [xe8f
In the figure below (not drawn to scale), AC and BD bisect each other. For the following problems, find all
possible values for x and find the measure(s) of each segment.
1. BM =3x*-7x+10 and MD= x*+ 6x- 10

BTy 10 = X ELpx — LD

XT3 42070 -5 )j*_}lo, )
-2
R T

x
2. MC=2(x-3)and AC = 3(x+ 5)
ZL('&X o) =A% S
1 = Bxeld
L/)( 1 5?\ 1/ M(’,,P\L’—oitp

x = 271

3. In the figure below (not drawn to scale), GI bisects 2 HGF , mZ FGI = (5x% + 9x - 20)°, and
m/ HGI = (4x* + 5x + 1)°.

6): ?’-PO‘ K 20

e ! SO BT ;;2,@




